Instructions grUnc“

Lace Pattern Infinity Scarf

Difficulty: Tension:
25 sts and 30 rows to 10 cm meas over lace
@\,@\, pattern

Stitch Pattern:
Lace pattern with double selvedge sts: (amount
of sts multiple of 6 + 4 selvedge sts)
Row 1 (= WS row): 2 selvedge sts, * k1, p4, ki, rep
from * cont, 2 selvedge sts
Row 2 (= RS row.): 2 selvedge sts, * pl, k2tog M,
1yo, p2tog., pl, rep from * cont., 2 selved-
ge sts
Row 3: 2 selvedge sts, * ki, p3, ki, rep from *
4-5mm cont, 2 selvedge sts
Row 4: 2 selvedge sts, * pl, k1, 1yo, ki, 1yo, ki, pl,
rep from * cont, 2 selvedge sts
Row 5: 2 selvedge sts, * k1, p5, k1, rep from *
cont, 2 selvedge sts
Row &: 2 selvedge sts, * pl, k1, p2tog, k2, pl, rep

Needles:

Quality:
Lucky Soft from Grindl
70 % Polyacrylic,

from * cont, 2 selvedge sts
(o) ’
380/;\//\/22; m These 6 rows establish the pattern. Rep rows 1 -
6 cont throughout.
Double selvedge sts:
=2 At beg of row k2, at end of row sl 2 p-wise wyif.
gru..‘u’% Instructions:
| Cast on 70 sts (including 4 selvedge sts) and
L € work 125 cm in lace pattern with double selved-
~ ge sts ending with row é in pattern. Next row:
1x cast off all sts even in patt, working the

2 selvedge sts tog (k2tog). Sew cast on and cast

Size: off edges flat together. Weave in ends.

width: approx. 26 cm,

. Abbreviations:
circumference: approx. 125 cm

approx. = approximate(ly) rep = repeat

Usage: approx. 200 g beg = begin(ning) RS =right side

col = colour(s) sl =slip

cont = continue st(s) = stitch(es)
(continuously) tog = together

k = knit wyif = with yarn in front of

meas = measure(d) work

patt = pattern WS = wrong side

p = purl yo(s) = yarn over (needle)/

p-wise = purl wise yarn round needle
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